Technische Mechanik 3 5.1-1

5.1 Grundlagen

LOosungen

Aufgabe 1
x(t)=2sin(wt)+cos(wt)
x, =V 1P=15=2,236
tan((l)):—%:—Z 5> =—1,107

> x(t)=2,236sin|0wt—1,107|

Aufgabe 2
x(t)=2sin(wt+m/6)
x,=—2sin|n/6]=—1, xC:2cos(n/6):\/§:1,732

> x(t)=-—sin(wt)+1,732cos(wt)

Aufgabe 3
Die Fourier-Reihe lautet
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a) x(t)=cos(2mt/T)sin(4mt/T)

Integration mit Taschenrechner oder Matlab/Octave ergibt:

x,=0

5. Schwingungen
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Technische Mechanik 3 5.1-2 Prof. Dr. Wandinger

x,,=0,5, x,,=0, x,,=0,5, x,,=0, x,5=0

'xcl:'x62:xc3:xc4:xc5:0

b) x(1)=v2—cos(2m¢t/T)

Integration mit Taschenrechner oder Matlab/Octave ergibt:
x,=1,3907
X=X =X3=X,,=x,5=0
x,=-3,6271-10"", x_,=—-2,4074-10, x_,=-3,2103-10"°,

x,,=—53611-10"*, x_=—1,0036-10""
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